
Math 140 Quiz #1 (Spring 2021)

1 Evaluate lim
x→3

x2 − 2x− 3

x− 3
, or state it does not exist.

lim
x→3

x2 − 2x− 3

x− 3
= lim

x→3

(x− 3)(x+ 1)

x− 3
= lim

x→3
(x+ 1) = 4.

2 Evaluate lim
x→2

(
1

x− 2
− 2

x2 − 2x

)
, or state it does not exist.

lim
x→2

(
1

x− 2
− 2

x2 − 2x

)
= lim

x→2

x− 2

x2 − 2x
= lim

x→2

1

x
=

1

2
.

3 Evaluate lim
x→0

x√
cx+ 1− 1

, where c 6= 0.

lim
x→0

x√
cx+ 1− 1

= lim
x→0

(
x√

cx+ 1− 1
·
√
cx+ 1 + 1√
cx+ 1 + 1

)
= lim

x→0

√
cx+ 1 + 1

c
=

2

c
.


